NUCOR TABLE OF CONTENTS

BUILDINGS GROUP

INSET GIRT DETAILS
CEOO015 - INSET CORNER 8" H.R. GIRT DETAIL
CEO0110 - INSET CORNER COLUMN GIRT DETAIL
CEO0241 - INSET CORNER GIRT DETAIL
CE1010 - INSET CORNER WELDED GIRT DETAIL
CE1015 - INSET BOLTED CORNER GIRT DETAIL
CE1030 - INSET TO INSET CORNER DETAIL




NUUCOR INSET CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CE0015 - INSET CORNER 8" H.R. GIRT DETAIL

MAGO2 ANGLE T
EXTEND TO CLIP MK. GCCO03 "] (2) 1/2" x 2" A325 BOLTS
ENDWALL GIRT SHOP WELDED PLATE / (T"LOS%?L‘\ND NUTS (H0300)
ATTACHWITH (9 HOT-ROLLED GIRT l
H1070 S j SHOP WELDED PLATE
FASTENERS _b* : *
ik ' ( =3 ‘ <
oL HOT-ROLLED GIRT
CEFT HAND DETAL SHOP WELDED STIFFENER SECTION A OT-ROLLED G
SHOWN, RIGHT HAND ENDWALL COLUMN
OPPOSITE SHOP WELDED PLATE CENTERLINE SHOP WELDED
2 4 g2 OF COLUMN STIFFENER
T f op /7 HOT-ROLLED
] GIRT
glﬁT | MK GCCo3 ! ' |
TOED UP)
O =
— &0 &0 =
. & S
= - wl
|2 00 00 1 i
© % [ ] 2 1/4" L m
L ! ° ® \ ¢ (|7)
__:_____- _______________________________________ e e e I e ——— g
| =
A \__ GIRT ANGLE MK. MAG02 " -
|53 WITH (3) H1070 FASTENERS
STEEL 14" 612" | 41
@
LNE T Yo T A
SECTION A

HOT-ROLLED GIRT CORNER DETAIL

8" HOT-ROLLED GIRT AT INSET CORNER.
NOTE: USE (6) 1/2" x 2" A325 BOLTS (MK. H0603) & NUTS (MK. H0300) C EOO 1 5
REFERENCE ERECTOR NOTE FOR TYPCIAL WASHER REQUIREMENTS

Detailer Notes:

1) DETAIL FOR HOT ROLLED & BUILT-UP COLUMN ONLY
2) CLIP TO HR GIRT & STIFFENER: GCP06

3) STIFFENER TO COLUMN: STFBR

4) CLIP TO HR GIRT: HCS08

Issued : 05.31.24 (MR2024.06) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Issued By: BSS


../Certified%20Erection%20Drawings/CED_NBG/CE0015.dwg

NUUCOR INSET CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CEO0110 - INSET CORNER COLUMN GIRT DETAIL

L.

J OO

|
|
9 1/2" GIRTS 12” GIRTS
RIGHT HAND DETAIL
SHOWN, LEFT
8" GIRT \_/\ GIRT HAND OPPOSITE
\ / DIM. "A"
EQ , "A" , EQ =4" AT 8" GIRTS
t "1 —stor =4" AT 9 1/2" GIRTS
— n 1 |-y  WELDED [=8'AT 12" GIRTS
5 i | i - ] cLP
— | u o [
| | | ! "
A j @ @ | CENTERLINE
i H i i__- L i“—,l-ﬂvi_ OF COLUMN
F-—-f@ | | @ @ |
_______________ 4 L =
L__i____T\SHOP i Sl
! WELDED CLIP =lo)
======L=@i______________________L::?::::::::::_I::I" ___/_LU
| "\\_ MAGO3 GIRT ANGLE | 4 S
" 0 WITH (4) H1020 (FIELD Pe—_ i w
CUT & COPE AS REQD) ‘UNE ?1-

INSET CORNER COLUMN GIRT DETAIL

NOTE: USE (6) 1/2" x 1 1/4" A307 BOLTS HO0500/NUTS H0400
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL

WASHER REQUIREMENTS C CEO1 1 O )

Detailer Notes:

1) (4) HOLE WELDED CLIP: 2) (2) HOLE WELDED CLIP:
8" - PCUO1 8" - GRC09
9 1/2" - GCB62 9 1/2" - GRCO03
12" - GCB12 12" - GRC09
Issued : 08.16.19 (2019.003) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1

Issued By: EGB


../Certified%20Erection%20Drawings/CED_NBG/CE0110.dwg

NUUCOR INSET CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CE0241 - INSET CORNER GIRT DETAIL

Z & VARES
E o6 |
%%E'
i
8" & 12" GIRTS
GCB _ CLIP BOLT PLACEMENT CON | 5 | E0Z | 97
9112" GIRT FLANGE WIDTH GIRT CLIP| GIRT CLIP

LEFT HAND DETAIL SHOWN,

RIGHT HAND OPPOSITE r 2 3" FLANGE=4" | 118" | GCB18 | GCB19
(2) GIRT ANGLE MK. MAG02 WITH ! ? [FIANGE>4" [ T1" | GCB0Y | GCBI0
(5) H1020 FASTENERS (TYP)  ~~__|l®| {1 .

P J‘.:_-_I-- T :
3/4 \L@ ! ! " ]
34" S B E—— USE (4) 1/2" x 2" A325 BOLTS H0603/
| —— / NUTS H0300 (CLIP TO FLANGE/WEB
oo HELDR TN CONNECTION)

SHOP WELDED
STIFFENER PER

T

o

Ll GIRT
(m]

=

Z  DESIGN

o

—

o

=}

/,
@?
4" LVARIES

VARIES

|

|

|

|

|

|

|

|

|

|

|

|

i

| Ll
COLUMN  [o o] o]

|

1 FACEOF [ | 1 1
= |
T - . T
E 2 STEEL LINE 5" % 61/2" El
|
INSET CORNER GIRT DETAIL

NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS H0500/
NUTS H0400. REFERENCE STANDARD WASHER DETAIL FOR TYPICAL

WASHER REQUIREMENTS C C E024 1 )

Detailer Notes:

1) WELDED CLIP TO COLUMN: GFI02
2) ADD STIFFENER PER DESIGN: WS_04

Revised : 04.20.20 (MR2020.005) CERTIFIED ERECTION DETAILS Detail Size (W x H): 1x1
Revised By : WME


../Certified%20Erection%20Drawings/CED_NBG/CE0241.dwg

NUCOR INSET CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CE1010 - INSET CORNER WELDED GIRT DETAIL

LEFT HAND DETAIL SHOWN, T
RIGHT HAND OPPOSITE
e
2
SECTION "A" -
01/2'GIRTS [234" 4" 234" GIRT
8 GIRTS | 2" g 2
- L CLIP MK. GCAO1
e~ ——— |
SHOP WELDED CLIP
————————— (IF REQD)
SHOP WELDED STIFFENER GIRT (IF REQD)
PER DESIGN
______________ _"._—_
n
L
i <
uAu / I@ : =
¢/ o o ¥
| : |
| i | <
= s
O & SR SN - ¥
o = ' s 0
Al © ! T w
= T e A R — =
= L —— ©! el e G N
=
~ 1|_4" 1 61/2" 1 l 3/ "
* ¢ '
GIRT ANGLE MK. MAGO3 WITH (3) H1020 SCREWS.
(PLACE ANGLE FROM GIRT TO FLANGE OF COLUMN)
CORNER INSET GIRT DETAIL WITH WELDED CLIPS
NOTE: USE (6) 1/2" X 1 1/4" A307 BOLTS HO500/NUTS H0400 ( C E 1 O 1 O )
REFERENCE WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS
Detailer Notes:
1) WELDED CLIPS TO COLUMN: GFI02
2) ADD STIFFENER PER DESIGN: WS_04
3) USE BOLTED ALTERNATE DETAIL FOR 12" GIRTS
Revised : 04.08.25 (MR2025.04) CERTIFIED ERECTION DETAILS Detail Size (W xH): 1x1

RevisedBy : AJT


../Certified%20Erection%20Drawings/CED_NBG/CE1010.dwg

NUCOR INSET CORNER GIRT DETAILS

BUILDINGS GROUP WALL SECONDARY

CE1015 - INSET BOLTED CORNER GIRT DETAIL

GIRT _\ T
LEFT HAND DETAIL SHOWN, L

RIGHT HAND OPPOSITE = P +
i
1 CLIP MK, SECTION "A"
91/2" {2 3/4" 4" 23/4" GCCO3
GIRTS USE (2) 1/2" x 2" A325
8"AND 12" | 2" 4" |VARIES BOLTS H0603/ NUTS
GIRTS GIRT H0300 (CLIP TO FLANGE
T e T CONNECTION)
SHOP-WELDED CLIP
CUPMK. + /[T b S
. ‘ / GCCO03 &
A <t
e e >
o © |
l & .
| ~ <
e : ™
S : - £
S b - X == @
[ o~ Jl_ _________ o0
5 _ —— ————————— _ =<
R 'If ,,,,,,,,,,,,,,,,,,, Qf:,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,-_ ___________ _>_“.___ _$
ALy .\
1-4" l 612" i 3/4" GIRT (IF REQD)

GIRT ANGLE MK. MAG03 WITH (3) H1020 SCREWS.
(PLACE ANGLE FROM GIRT TO FLANGE OF COLUMN)

INSET BOLTED CORNER GIRT DETAIL

INSET GIRT DETAIL WITH BOLTED CORNER CLIP
NOTE: USE (4) 1/2" X 1 1/4" A307 BOLTS HO500/NUTS H0400 ( C E 1 O 1 5 )
REFERENCE WASHER DETAIL FOR TYPICAL WASHER REQUIREMENTS

Detailer Notes:

1) WELDED CLIPS TO COLUMN: GF102
2) ADD STIFFENER PER DESIGN: WS_04

Revised : 04.08.25 (MR2025.04) CERTIFIED ERECTION DETAILS Detail Size W xH): 1x1
RevisedBy : AJT


../Certified%20Erection%20Drawings/CED_NBG/CE1015.dwg

NUWUCORN

BUILDINGS GROUP

INSET CORNER GIRT DETAILS

WALL SECONDARY

CE1030 - INSET TO INSET CORNER DETAIL

GIRT CLIPS ARE FACTORY PUNCHED TO BE USED WITH
MULTIPLE GIRT DEPTHS. REFER TO THE STANDARD BOLT
PLACMENT DETAIL(S) FOR PROPER BOLT PLACEMENT.

ERECTOR
NOTE

—————— e

JVARES, 4" VARES, COLUMN
i i FACE
I
| el
| | H
GIRT T | | -
SHOP WELDED | | el I
STIFFENER r"é* ********* § *** 1
} _____ ! _t

PER DESIGN | H
SHOP WELDED \
O

CLIP O\ |
? | | &
i — '
----- ol |o | ofl{l"
| | [ |
] ||
I | ey I
.y B
_____ Y. N - RIGHT HAND
il || SHOWN, LEFT HAND
° B ° STEEL OPPOSITE
********** T 4= LINE
8" GIRT | o=
| 82 MAG02 ANGLE WITH (5)
w | ts] H1020 FASTENERS (FIELD
e VARIES ¢ ¢STEEL ¢y & COPE ASREQD)
112" 4 LINE

INSET TO INSET CORNER DETAIL

NOTE: USE (4) 1/2"x 1 1/4" A307 BOLTS H0500/NUTS H0400

REFERENCE STANDARD WASHER DETAIL FOR TYPICALWASHER REQUIREMENTS

Detailer Notes:

1) (2) HOLE WELDED CLIP: GRCO9 (AT 8" AND 12" GIRTS), GRC03 (AT 9 1/2" GIRTS)
2) WELDED CLIP AT COLUMN WEB: GFI02
3) ADD STIFFENER PER DESIGN WS_04

(_CE1030 )

Revised : 04.15.20
Revised By : WME

(MR2020.005)

CERTIFIED ERECTION DETAILS

Detail Size (W xH): 1x1


../Certified%20Erection%20Drawings/CED_NBG/CE1030.dwg

	TABLE OF CONTENTS
	INSET GIRT DETAILS
	CE0015 - INSET CORNER 8" H.R. GIRT DETAIL
	CE0110 - INSET CORNER COLUMN GIRT DETAIL
	CE0241 - INSET CORNER GIRT DETAIL
	CE1010 - INSET CORNER WELDED GIRT DETAIL
	CE1015 - INSET BOLTED CORNER GIRT DETAIL
	CE1030 - INSET TO INSET CORNER DETAIL


